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                vkd`fr ,oa LFkku dh le> 

                             Understanding of shape and space 

iz'u&1 ledks.k dk eki gksrk gS &                  1 

       The measure of right angle is - 

 ¼v½ 30
0
 ¼c½ 60

0
 ¼l½ 120

0
 ¼n½ 90

0 
         ¼   ½  

 

iz'u&2 uhps nh xbZ vkd`fr;ksa esa lHkh dks.kksa dks igpku dj mUgsa U;wu dks.k vFkok 

ledks.k ds :i esa fyf[k,                             3+3=6  

 In the given figures, identify all the angles, and write them in the form of acute 

angle or right angle - 

      A               D 

 

 

 

 

 

      B                   C  E       F 

   vkd`fr (i) esa     vkd`fr  (ii) esa  

   In figure (i)      In figure (ii) 

 

U;wudks.k     U;wudks.k  

Acute angle    Acute angle 

 ----------------------------------------------    ------------------------------------------- 

 ----------------------------------------------   -------------------------------------------- 

 ----------------------------------------------   -------------------------------------------- 

       ledks.k     ledks.k 

Right angle    Right angle 

        -------------------------------------------------   ------------------------------------------- 

 --------------------------------------------------   -------------------------------------------- 

 --------------------------------------------------   -------------------------------------------- 

jQ dk;Z 

(Rough work)  



 

 

                  la[;k Kku dh le>   

                               Understanding of the Number system   

  

iz'u&3 fuEufyf[kr esa ls dkSulk fodYi lR; gS &         1 

 In the following, which option is true. 

 ¼v½ 28506 > 28605   ¼c½ 25806 > 25808 

 ¼l½ 26580 < 26850  ¼n½ 20658 > 22568  ¼   ½  

 

iz'u&4 uhps fn, x, dFkuksa ds lgh ;k xyr gksus dh tk¡p dhft, vkSj izR;sd iz'u 

ds lkeus fn, x, ckWDl esa lgh@xyr fyf[k, &             2+2+2=6 

 Check whether the statements given below are true or false and write true or false 

in the bracket given in front of the statement. 

(i) la[;k 20005 dks 'kCnksa esa nks gtkj ik¡p fy[krs gSA   ¼   ½ 

Number 20005 is written as two thousand and five in words 

(ii) la[;k 36375 esa vad 6 dk LFkkuh; eku 6000 gSA   ¼   ½ 

Place value of digit 6 in number 36375 is 6000. 

(iii) la[;k ^lRrj gtkj ik¡p lkS dks vadksa esa 70500 fy[krs gSaA   ¼   ½ 

Number Seventy thousand five hundred is written in digit as 705000. 

 

iz'u&5 fn, x, fp= esa Nk;kafdr Hkkx dk fHkUu ,oa n'keyo :i fyf[k,     1+2=3 
              In the given figure, write the fraction  and decimal form of the shaded area. 

 

 

 

 

 

(i) fHkUu :i Fraction form----------------------------------------------------------------- 

(ii) n'keyo :i Decimal form-------------------------------------------------------------------- 

 

iz'u&6 fuEu fyf[kr iz'uksa dks gy dhft, &                         3+3=6 
              Solve the following questions. 

(i) Hkkouk us cktkj ls 6 ehVj yEch jLlh [kjhnhA bls og pkj lgsfy;ksa esa 

cjkcj ck¡Vrh gS rks izR;sd dks fdrus ehVj yEch jLlh feysxh \ 

Bhavna purchased 6m long rope from the market. She divides the rope equally  

among her four friends. How much long rope will each get? 

 mÙkj@Ans --------------------------------------------------------------------------------------------------------------------------------
------------------------------------------------------------------------------------------------------------------------------------------------------- 

 -       ---------------------------------------------------------------------------------------------------------------------------------------------------- 

(ii) ukjk;.k dks ,d deht cukus ds fy, 1-5 ehVj diM+k pkfg, rks ,sls gh 2  

     deht ds fy, dqy fdrus ehVj diM+k dh vko”;drk gksxh \ 

Narayan wants 1.5 meter cloth to stitch one shirt. How much meter cloth is    

necessary  to stitch 2 such shirts. 



 

 

 - mÙkj@Ans -----------------------------------------------------------------------------------------------------------------------------
------------------------------------------------------------------------------------------------------------------------------------------------------- 

        ------------------------------------------------------------------------------------------------------------------------------------------------------ 

 

lafØ;kvksa dh le> 

Understanding of the basic mathematical operations 

iz'u&7 fdlh la[;k dk pje vad gS &      1 

 ¼v½ bdkbZ dk vad   ¼c½ ngkbZ dk vad  

 ¼l½ lSdaMs dk vad  ¼n½ lHkh vad   ¼   ½  

         The extreme digit of Number is -  

 (A) Unit's digit  (B) Ten's digit 

 (C) Hundred's digit  (D) All digits        ¼   ½  

 

iz'u&8 fuf[kye fof/k ls xq.kuQy Kkr djksaA      3 

Find the product by Nikhilam method - 

12×14 

mRrj@Ans------------------------------------------------------------------------------------------------------------------------------------------------
-------------------------------------------------------------------------------------------------------------------------------------------------------

------------------------------------------------------------------------------------------------------------------------------------------------------ 

iz'u&9 fuEufyf[kr dks gy dhft, &      3+3=6 

 Solve the following 

(i) ;fn uksgj ls t;iqj rd dk ,d O;fDr dk fdjk;k 550 :i;s gks rks 15 

O;fDr;ksa dk fdjk;k fdruk gksxk \ 

If the fare of one person from Nohar to Jaipur is Rs 550. Then what will be the  

fare of 15 persons. 

mÙkj@Ans ------------------------------------------------------------------------------------------------------------------------------ 
        ------------------------------------------------------------------------------------------------------------------------------------------------------ 

        ------------------------------------------------------------------------------------------------------------------------------------------------------  

(ii) uhjt ds ikl 984 dsys gSa rks crkb;s mlds ikl fdrus ntZu dsys gSa \ 

       Nevraj has 984 bananas, then find how many dozen bananas does he have ? 

mÙkj@Ans ------------------------------------------------------------------------------------------------------------------------------ 
        ------------------------------------------------------------------------------------------------------------------------------------------------------ 

        ------------------------------------------------------------------------------------------------------------------------------------------------------

- 

iz'u&10 og lcls cM+h la[;k Kkr djks ftldk 36 o 54 nksuksa esa iwjk&iwjk Hkkx tkrk 

gSA               6 

 Find the greatest number which is exactly divided by 36 and 54 fully. 

 mÙkj@Ans ------------------------------------------------------------------------------------------------------------------------------ 
        ------------------------------------------------------------------------------------------------------------------------------------------------------ 

        ------------------------------------------------------------------------------------------------------------------------------------------------------ 

 

iz'u&11 fuEufyf[kr iz'uksa dks gy dhft,         2+3+3=8  

 Solve the following questions. 



 

 

 

(i) NqVs gq, vad fyf[k, & 

                 Write the missing digits. 

 

 7  6 

-  8 7 

 4 5 7 

 

(ii) 3122] 8050 rFkk 738 dk ;ksx dhft,  & 

                 Find the sum of 3122, 8050 and 738 

     mÙkj@Ans ------------------------------------- 
   --------------------------------------- 

   -------------------------------------- 

   ---------------------------------------- 

(iii) ueu ds ikl 12500 :i;s gS mlus 2500 :i;s dh flykbZ e'khu rFkk 

8000 :i;s dh okf'kax e'khu [kjhnh gS ] crkvks mlds ikl fdrus :i;s 

'ks"k cps \ 

Naman has 12500 Rs. He purchased sewing machine for 2500Rs and   

washing machine for 8000 Rs. Find how much money is left with him? 

     mÙkj@Ans -----------------------------------------------------------------------------------------------------------------------
-------------------------------------------------------------------------------------------------------------------------------------------------------

-------------------------------------------------------------------------------------------------------------------------------------------------------

-------------------------------------------------------------------------------------------------------------------------- 

 

ekiu dh le> 

Understanding of Measurement. 

iz'u&12 lqty us ‡ fdyks pkoy †‡ :i;s ‡Œ iSls izfr fdyksxzke ds Hkko ls rFkk … 

fdyksxzke 'kDdj „Š :i;s ˆŒ iSls izfr fdyksxzke ds Hkko ls [kjhnhA mlds 

ikl vc „†‡ :i;s ‰Œ iSls cps gks rks crkvks og fdruh jkf'k ysdj cktkj 

x;h Fkh \                  3 

 Sujal purchased ‡ Kilo rice of †‡ Rs ‡Œ per kilogram and 8 kilogram sugar for 

„Š Rs ˆŒ Paise per kilogram. Now „†‡ Rs ‰Œ paise is left with her .Then find 

how much money she took with her in the market. 

 mÙkj@Ans --------------------------------------------------------------------------------------------------------------------------------
-------------------------------------------------------------------------------------------------------------------------------------------------------

-------------------------------------------------------------------------------------------------------------------------------------------------------

-------------------------------------------------------------------------------------------------------------------------------------------------------

-------------------------------------------------------------------------------------------------------------------------------------------------------

-------------------------------------------------------------------------------------------------------------------------------------------------------

------------------------------------------------------------------------------------------------------------------------------------------------------- 

 

iz'u&13  3 ?k.Vksa esa dqy fdrus fefuV gksrs gSa &     1 

 ¼v½ 60 fefuV   ¼c½ 120 fefuV   

 ¼l½ 180 fefuV    ¼n½ 150 fefuV              ¼   ½  



 

 

              How many minutes are there in 3 hours.                   

 (A) 60 minutes  (B) 120 minuter 

 (C) 180 minuter  (D) 150 minuter         ¼   ½  

 

iz'u&14 fuEufuf[kr dFkuksa dks lR;@vlR; esa :i esa igpkfu, &    3 

 Identify the following statements in the form of true/False. 

(i) fefuV dks lsdaM esa cnyus ds fy, fefuV dks 60 dk Hkkx nsrs gSA       

    ¼lR;@vlR;½ 

To change minute into seconds we divide minute by 60  (True/False) 

(ii) 1 ?k.Vsa esa 3600 lsdaM gksrs gSA          ¼lR;@vlR;½ 

There are 3600 seconds in 1 hour                                         (True/False) 

(iii) vk/kk ?k.Vk 15 fefuV ds cjkcj gksrk gSA   ¼lR;@vlR;½ 

½  hour is equal to 15 minute                                                (True/False) 

 

iz'u&15 fjDr LFkkuksa dh iwfrZ dhft, &     1+1+1=3       

 Fill in the blanks 

(i) 1500 xzke = ------------------------------------------ fdyksxzke  

1500 gram =___________________ kilogram 

(ii) 3½ fdyksxzke = ------------------------------------------ xzke 

3½ kilogram = ------------------------------------------ gram 

(iii) fdyksxzke bdkbZ dks xzke bdkbZ esa cnyus ds fy, ---------------------------------------

ls xq.kk djrs gSA  

To change kilogram unit to gram unit we multiply by................................ 

 

iz'u&16 Hkkx ^v* dk Hkkx ^c* ls feyku dhft, &  

       Match Part 'A' with Part 'B'                       3  

 Hkkx&v 

Part 'A' 

 Hkkx&c 

Part 'B' 

(i) 1 fdyksehVj 

1 Kilometer  

(A) 10 feyhehVj  

10 milli meter  

(ii) 1 ehVj  

1 meter 

(B) 1000 ehVj  

100 meter  

(iii) 1 lsUVhehVj 

1 Centimeter   

(C) 100 lsUVhehVj 

100 Centimeter 

 

iz'u&17 ,d vk;rkdkj QksVksQzse ftldh yEckbZ 8 ehVj rFkk pkSM+kbZ 7 ehVj gS blds 

vk/kkj ij fuEu iz”uksa ds mRrj nhft, &     4+4=8 

 One Rectangular Photo frame is of length 8 meter and breadth 7 meter . on the 

basis of this answer the following questions 

(i) bl QksVksQzse esa yxus okys QksVks dk {ks=Qy Kkr dhft,A 

         Find the area of photo that can be placed in this photo frame. 

mÙkj@Ans-------------------------------------------------------------------------------------------------------------------------------------------
----------------------------------------------------------------------------------------------------------------------------------------------------------------



 

 

----------------------------------------------------------------------------------------------------------------------------------------------------------------

----------------------------------------------------------------------------------------------------------------------------------------------------------------

----------------------------------------------------------------------------------------------------------------------------------------------------------------

----------------------------------------------------------------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------------------------------------------------- 

(ii) bl vk;rkdkj QksVksQzse ds pkjksa vksj ydMh dh iÍh yxkuh gS] yxus okyh 

ydM+h dh dqy yEckbZZ Kkr dhft,A 

A wooden strip is to be fixed around the rectangular photo frame. Find the total       

length of the wooden strip to be fixed around the photo frame. 

 mÙkj@Ans --------------------------------------------------------------------------------------------------------------------------------
-------------------------------------------------------------------------------------------------------------------------------------------------------

-------------------------------------------------------------------------------------------------------------------------------------------------------

-------------------------------------------------------------------------------------------------------------------------------------------------------

-------------------------------------------------------------------------------------------------------------------------------------------------------

-------------------------------------------------------------------------------------------------------------------------------------------------------

------------------------------------------------------------------------------------------------------------------------------------------------------- 

 

iz'u&18 1000 feyhyhVj ds cjkcj gksrs gS &           1 

 ¼v½ 2 yhVj   ¼c½  3
  
yhVj   

 ¼l½ 1
 
yhVj   ¼n½  4 yhVj        ¼   ½  

          1000 millimeter is equal to – 
             (A) 2  litre  (B)  2   litre 

 (C) 1   litre  (D) 4  litre            ¼   ½  

 

iz'u&19 rsy ds ,d fMCcsa esa 15 yhVj rsy vkrk gSA 3750 yhVj rsy ds fy, ,sls gh 

fdrus fMCcsa [kjhnus iMsaxs \            3 

 One cane of oil contains 15 litre oil. How many such canes are to be bought for 

3750 litre oil.  

 mÙkj@Ans --------------------------------------------------------------------------------------------------------------------------------
-------------------------------------------------------------------------------------------------------------------------------------------------------

-------------------------------------------------------------------------------------------------------------------------------------------------------

-------------------------------------------------------------------------------------------------------------------------------------------------------

-------------------------------------------------------------------------------------------------------------------------------------------------------

-------------------------------------------------------------------------------------------------------------------------------------------------------

-------------------------------------------------------------------------------------------------------------------------------------------------------

------------------------------------------------------------------------------------------------------------------------------------------------------- 

 

 

 

 

 

 

 

 

 



 

 

vk¡dM+ksa dk izcU/ku ,oa iSVuZ dh le>k 

Data Handling and Understanding of patterns 

iz'u&20 uhps fn, x, iSVuZ dks vkxs c<+kb;s &     1 

 Extend the following patterns given below- 

  

  ,    ,     ------------------------------------------------  

       

 ¼v½  ¼c½  ¼l½  ¼n½   ¼   ½  

 

iz'u&21 fn, x, iSVuZ esa vxyk in gksxk &           1 

 The next term in the given pattern is - 

 1,4,9,16, --------------------------------------- 

 ¼v½ 27 ¼c½ 13 ¼l½ 25 ¼n½ 36
 
 ¼   ½  

 

iz'u&22 ih;q"k ds ?kj ds ikl ls fudyus okys okguksa dk ih;q"k us ,d ?k.Vs rd 

yxkrkj izs{k.k fd;k o fofHkUu izdkj ds okguksa dh la[;k uksV dh] tks fuEu 

izdkj gSa &         6 

 Piyush observed the vehicles passing by Piyush's house in one hour and moted 

the number of various types of vehicles, which is as follows 

  

okgu dk izdkj  eksVj lkbfdy dkj cl Vªd 

okguksa dh la[;k  9 6 3 5 

 

Type of Vehicle  Motor cycle  Car  Bus  Truck 

Number of Vehicle 9 6 3 5 

 

bu vk¡dM+ksa dks uhps fn, x, xzkQ esa LrEHk pkVZ esa n'kkZb;sA  

Show these datas in bar chart in graph. 


